
without 
override

with override

Time

Te
m

po
ra

ry
 

Sh
ift

, S
 [m

]

0

Time
St

ag
e,

 H
 [m

]
Time

D
isc

ha
rg

e,
 Q

 [m
3 /s

](e) (f)(d) Qt4,o

t0 t1 t2 t3 t4 t5 t6 t0 t1 t2 t3 t4 t5 t6 t0 t1 t2 t3 t4 t5 t6

without temporary 
shift

temporary  
shift corrected

Time

Te
m

po
ra

ry
 

Sh
ift

, S
 [m

]

0

Time

St
ag

e,
 H

 [m
]

Time

D
isc

ha
rg

e,
 Q

 [m
3 /s

]

t0 t1 t2 t3 t4 t5 t6

(b) (c)(a)

S2 S3 S4

S5

t0 t1 t2 t3 t4 t5 t6 t0 t1 t2 t3 t4 t5 t6

Qt4,o

Qt2,oQt1,o

Qt2,oQt1,o


	Slide 1
	Slide 2
	Slide 3
	Slide 4

